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General Inst_ructions 5

(i) This question-paper consists of 39 questions in total, which are diz)ided into

Sour Sections : 'A', 'B','C', and 'D'.

(i) Question Nos. 1 to 30 of Section - A are multiple choice questions. Each
question carries 1 mark. Answer the multiple choic¢ questions by selecting

correct option.

(iii) Questlon Nos. 31 to 33 of Section - B are Very Short Aniswer Type Questlons

Each question carries 2 marks.
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(iv) Question Nos. 34 to 36 of Section - C are Short Answer Type Questions.

Each question caries 3 marks.

(v) Question Nos. 37 to 39 of Section - D are Long Answer Type Questions. Each

question carries 5 marks.
(vi) All questibns are compulsory. %

(vii) Internal choice has been propided in two long answer type questions
(Question Nos. 37 & 39) of 5 marks. l}ou have to attempt only one of the
--given choice in such questions.- |
@ - ot
SECTION - A
(Multi‘plev Choice Questions)

‘.(ﬁgﬁwﬂqm) |

A) Hex/AFTE | \ (B). nﬂa S— |
) e/ e ' D)
S.L. unitt(‘)f acceleration is : SR
(A) Mete‘r/Se_\cond . (B) Meter
(C) Meter/Second? D) Second ) |
2, T ¥ TED B T A T g A R B A T | 1
®) W B) dEfw '
(C) e (D) WEHw
1905 ot ' A _ P.T.O.
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A device used to measure the distance in vehicles is known as :

(A) Sonometer (B) Odometer
(C) Galvanometer ! : (D) Speedometer
el M R 3 g et 31 v ¥ a7 g o 7 B
(A) MV e @) Lmv?
. , 2
(C) Mv? . D) (MV)*

What is the momentum of an object of mass M moving with a velocity V ?

@ mv S 8 (B) -;-MV2
© Mv? B e '".(D') (MV)?

‘ n@maagmﬁﬁwmwmw%mﬁwwvﬁaﬁmﬁﬁw“%mw
%wwﬁéa@aﬁaﬁﬁwqal”ﬁnﬁrzﬁr%wm%?‘ ’ 1

(A) IR FT T fiﬁm
(B) T & %iﬂq e
(C) TR T i
T & A T
"An object remains in a state of rest or of uniform motion in a straight line

unless compelled to change that state’ by an apphed force."

motion states this-fact ?
(A} First law of motion

(B) Second law of motion

' (C) Third law of motion .

(D) None of these

[§
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5. T A% W FENH 10 Kg ¥ ge W SE A R A ? . 1
‘A) 10N \ (B). 10 Kg '
(C) 98Kg ' (D) 98 N

6. U B AW g W AT e AME ? , o
(A) 9.8 HeX e e oo (B) 9.8 WA

1905

. (C) 0.8 rne.ter/secénd2 o | - (D) 9.8 cm/second

Mass of an object is 10 Kg. What is its weight on the earth ?
A) 10N ‘» ~ (B) 10 Kg

(C) 98 Kg ‘ e (D) 98 N

(C) 9.8 He/QFve? - e = ., (D) 9.8 Tl /S
The value of 'g' over earth surface is * : -
(A) 9.8 meter | (B) 9.8 meter/second

(A) - oTEr
B)
(C) =X I
(D) <SS I+

[ ]

Work done on an object by a force would be ............ if the displacement of the

object is zero.

. (A) Half
(B) Zero

(C) Four times

(D) Eight times
R. @
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() T B) atn-ded
(C) STEwH (D) &+

10/
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(A) 'S

The distance between two consecutive compressions or tw

rarefactions is called the

(A) Frequenéy

(C) Time period

S @ SL TEE R

e Ll

©C) WX/ /AFvE

S.I. unit of frequency is :

(A) Hertz - |

-(C) Meter/Second -

T H TS e § 7

(A) 100°C

(C) 27°C

The melting point of ice is :

(A) 100°C

(C) 27°C

(B)-
(D)

B

(D)

®)

(D)

- (B)

(D)

(B)

(D)

300K A9AM 93 ot @ Aifoe oaer & anl ?

(A) o
© |

(B)

(D)

o consecutive

Wave length

Sound

Hie

&

Meter

Second

Opiimsy . . S
~100°C
0°C

-100°C
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What will be the physical state of water at SOOK ?
~(A) Solid- : (By Liquid

(C) Gas s (D) Plasma
Freiien ¥ waERE R

(a) Qe gfe ) | (B) W e
(C) S F TR (D) SR
Which of the following are éhernical change.s ?

(A) Growth of a plant . : _ (E) Cooking of food
(C) _Digést_ion of food . (D) All of these
fieioia 3 & T R d c ,

@ B R

© s (D) ST
Which of the foilowin‘g are ‘homogeneous mixture ?

(A) Ice L | (B} Vinegar
(C) Soda witter - S —T . All of these -
o B @ d AT S B |

a) | . @® #=

(C) infrex - | (D) frifiex
Atomic radius is measured in ............ ;

(A) cm : (B) mefcr

(C) nanometer A . , (D) Millimeter
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15, ST FENE H AR @ Y g = al o it
(A) CaCOs ‘ ) | (B) Ca(OH)z
(C) CaO \ (D) CaCly
Chemical formulae of calcium carbonate is :
(A} CaCOs ' | ~ (B) Ca(OH)2
() Gag R G | (D)‘ CaCly
16. Hﬁﬂgﬁ@%ﬁ@ﬂ%?. e - 1
) 1 | B 2 54
o (08 L T D 4
How many atoins are present in a HoS molecule ? © e
N Y
s Esaee A oiff
17,"crwﬁ¢ﬂawfsazaﬁﬁm%': » -1
Lare o R \ N o
©) 17 % . Dids
Number of valence.electrons in CI” ion are : | S
e, P (B L6
© 17 gt D) 1s
182 ... FIAEH ROl TR i 1
*) R i ~ (B) TqeifRy
(O wfes | . (D) Adeitg
1905
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cierseeeeeeeen. @re known as the power houses of the cell.
(A) L&sosomes (B) Vacuoles
(©) Plastids 4 (D} Mitochondria :
19, . R B e NEN P G el A ¢ s ! g T
A) TERgmE (B) e
© TEEmE () TRE
Where a1;e proteins syrithesized inside fhe-cell Pl s
(A) In Mitochon_dria .. (B) InChromoplast
(C) Iﬁ Ri'_bosorne/siu frets . :: | (D) All of these
201,5“111?3"&5?[ E??I?-WW@HT%? ; BT L S i
() s |
(B) ITH
© I
(D) ST

Which tissue is prQSeﬁt in:thé bfain ?
(A) Plasma b

(B) Ishloem

(C) Neuron

(D} Tendon

b1 T A D P e AT W@ AME? e R
() FEI ©(B) @l |
(C) TRAS (D) SO T

1905 | o | P.T.O.
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~ Which of the following has four chambered heart ?

(A) Pigeon (B)
(b) Crocodiles (D)
22, FEAT, TRAD, TG B ............. T & w2l
@A) w (B)
(©) wIgT, (D)
Turtle, Crocodile, WalllLizard belongs to ........
(A) Aves Sk (BL
(C) Reptiles (D_) 
23, 4w TR AW
@ e ®
() (A) T (B) ;] - (D)
These mammals lay eggs :
(A) Echidna (B)
) Both () and (B) D)

(A)  Trfemar

)~ GRt-Sm

24 g 7 e A ¥

(B)

(D)

- Which disease are air-borne ?

1905

(A)" Pneumonia

(C) Common-cold =

(B)

(D}

Crow

All of these

Amphibians

Mammals:

T & g T

Platypus' :

None of these

SR
SUUHRT Tl

Tuberculosis

All of these
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(A)

(B)
©

D)

AR
e
\CE
ST.3ER

Which of the following disease is caused by virus ? VJ

®)
®)
©

(D)

(A)
(B)
(€)

(D3

Malaria

Cholera

Anthrax

Dengue fever ) S

26, e & T T AR ORI $ &Y .7 |

O,
O,
Os

(A) T (B) A

What are the forms of oxygen found in the atmosphere ?

)
(B)
(©)

(D)

Both (A) and (B)
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27, ﬁﬂﬁﬁﬁ?{—ﬁlﬂﬁmﬁ"ﬂ%?

(A) TEESH

(B) oo e

(C) Fe-ST3aiEs

(D) SWRF oqff '

Which of the following is a green house gas ?

(A) Nitrogen

- (B) Oxygen

(& Carbon-dioxide

(D) All of these

28 T & TR TEd T e ® -

29,

1905’

(A)  wEEE A V/V(B)-_ e
© agsT e . D) S
The buter crust of Eétrth is called : » |

(A) Lithosphefe‘ '4 el /_ ‘ (B) Hydrdsphpre
(C)y Atmospﬁere ks . | : (D)' Biosphere
et 3 & e i e T 2

(A) e | B o

€) e D) A
Which of the following is Indian cow breed ?

(A} Sahiwal R ' (B) Jersey
(C) Brown Swiss (D) Léghorn

Downloaded from cclchapter.com
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30 T # ¥ TXwmER ® | 1

() e (B) O AR
© | e (D) SE @
Wﬁich of these is wééds ?
(A) Xanthiﬁm | | (B) Pérthenium
(C) Cyperinus Rotundus » : | (D) All of these

' gug -9

'SECTION - B
(ot S )

31.

32.

33.

1905

- (Very Short Answer Type Questlons)

@Wé&m%wwwﬁ%aﬁ?@ww%waﬁ%@mmﬁ
40 ﬁ?ﬁ/&ﬁﬂ?ﬁ'qw1HWﬁqnq|%u3H$TERWI§RT#§EQI it , 2

" A train starting from a rallway station and movmg with uniform acceleratlon

attains a speed 40 km/hour in 10 minutes. Find its acceleration.

g R ) a R & e e R o
() &y L ot i Uk |
(i) B d FL e

Name the techniQue to. separate : '

(i) Butter from curd -

(ii) Camphor from salt

@#mﬁmmﬁm@aﬁ%%mw%wﬁm%wwa@%n 2

List any two reasons why }’OU would think that you are sick and ought to see

a doctor.
P.T.O.
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SECTION - C
(g 3w )

(Short Answer Type Questlons)

34:&&3%108mmﬁnﬁaw@%aﬁra¢mﬁ%mwmﬁ4‘W@W

W%ﬁ%lwwﬁmﬂﬁ%mmﬁwﬁmﬁlmiﬁrm%
T AN 1000 Rrdom B | 3

A motor car is moving with a velocity of 108 km /hour and it takes 4 second to
stop after the brakes are applied. ‘Calculaté the force exerted by the brakes on
the motor car if its mass along with the passengers is 1000 kg

35. Wﬁﬁﬁﬁﬁﬁﬂqaﬁwwm R 3 AT o 3
0 FggwFW
() FEISH A

Give the names of the elements present in Lhe followmg compounds :

(i) Quick hme
(ii) Hydrogen brom1de : : : |
36."‘6113@1@11#%@%@%%%? , . =
Why are lysosomes known as su1c1de bags Pl s ‘ :
. G -
SECTION-D
(&t i wem)

(Long Answer Type Questions)
37. (i) %&hwﬁﬂﬁamwﬁ?ﬁ%?mﬁa@ﬁﬂmwf%mwmn 2
G o o ﬁaﬁqﬁasa%arﬁasoow%m@mmﬁnﬁﬂémﬁ%sﬂ%

maqqﬁqg‘wfkwrlﬁmaﬁm 3

1905
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What is the kinetic energy of an object ? Write an expression for the

kinetic energy of an object.

Find the energy in kWh consumed in 10 hours by four devices of power
500 W each.

CLE
OR

qRe el aE b @ R AR iz

40 kg FEM F T s gEl € 5 M. # AR T Fordl S %1 =g et
ot Rl B 7 o Ao @ g &w & e e o aa'ﬁws'évs CIEIRUSIRES

%WWWWWWWI _—1Om/secf3) . .3

(@)

(i1)

(i)

(i)

‘Expla.in with examples :

What is power ? ‘Define 1 watt of power

-An object of mass 40 kg is ralsed to a helght of 5 M above the ground.

What is its potentlal energy ? If the ob]ect is allowed to fall, find its

kinetic energy when it is half—way down. (g =10 m / sec2)

Gmaw%zmra@méﬁm; e e ,'7_' n 5iD=4
(a) TRETY HET . 4"‘ E oA\ '\\ "

(b) S SN

o el T A K:aﬁz L & xnx*% a GH'UTHE@ ﬁ 3@&§Fﬁ W g ;M
i ? | — 1

(a) Atomic number

(b) Isotopes
If K and L shells of an atom are full then what would be the total number

of electrons in the atom ?

P.T.O.
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' Diagrammatically show the difference between the three types of Muscles |
fibres.
Y
4 OR
0 &MY o R . 3
(M) WHIRMFEE? o | S G : 2

(i)  Give three features of 'cardiéc_mus,cles. :

(i) What are the functions of the stomata?

1905
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